
“Simplicity, simplicity, simplicity” said Henry David 
Thoreau... 
In any process, it’s best to simplify it if you can. In any math class, you want to simplify your 
algebra before doing more complex math. This is a matter of time, efficiency, and of course 
money. What I’m proposing here is that people simplify and perhaps improve their extraction 
process. 
 
No doubt, hydrocarbon extractions are a risky business. On the small scale, you anywhere up to 
12 pounds of butane in­line to your extractor at any given time. You don’t have to do the math to 
realize there is a significant explosion potential ­ the endless news stories of people blowing up 
houses describe it well enough. 
 
Since most extractors have dry ice on hand to freeze their plant material or to control 
temperatures of their butane, you can just as well use some of that dry ice to concentrate your 
trichomes. This may seem like more work on the front end, but it does save you work in the long 
run, and is also much safer since it means less time cycling butane through your extractor.  

It’s a matter of concentration (i.e. density). 
In my former life as a protein chemist, concentration was everything. Concentration is described 
by the number of Moles of any substance, divided by the the volume (or the amount of liquid) 
the substance is dissolved in. Concentration is a close cousin to density. For the sake of our 
discussion, we’ll talk in terms of density.  
 
Density can be described as the amount of weight divided by the amount of space it takes up 
(i.e. volume) ­ e.g. pounds/gallon or kilograms/liter. Now imagine that you have 1 pound of buds, 
and that takes up a space of a 3”x36” column. A 3”x36” column has a volume approximately 0.7 
gallons. This works out to be 1.4 pounds per gallon or 0.17 kilograms per liter.  
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Now take that same volume of buds and make dry ice hash with it. Your yields will vary 
depending on the strain, but you can expect anywhere from 15­25% yields. This will produce a 
much smaller volume of concentrated trichomes. You don’t have to do much math to 
understand that weight for weight, a column packed with trichomes has more cannabinoids and 
terpenes compared to a column packed with nugs or trim.  
 
To further the point, the density of cannabinoids and terpenes is much higher in a pile of 
trichomes than is in a equally sized pile of nugs. The point is that by concentrating ­ ie 


